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Alpha Numerical Series AT f&gUsT Series AT U3 letter &% T3S Number AT aivad+ el
fare%sT value I2T 94 | double, triple ¥ quadruple alphabet @T% #2T: double, triple ¥

quadruple dight & € THIES |

3

1 A% MWRA TREF TE G
TGS A 9¢ WHAT # A9 &
g ! (Each letter represent a different
digit then, the value of WHAT is)
WHAT

x A
8H5W
(A) 4027 (B) 2740 (C)

Solution:

THAT 0-9 TFHHT HEAEs U@ U3
letter & TS value fervaes; | @@t W, H
T A letter TEMRUST TA | TGS
faEee® value W =4, H= 0T A=2
g9 | I9aTs option aE check
Al |

4027

x 2 .
3054 Answer 1S A

1236

2. Y% HERA WF WP IS
TASE IOl 9T qoel  qHETR
JATHS (TRl B &1 qEr A i 578

? (In the correctly worked out addition
problem at the right, each letter
represent a different digit. What is the

value of B ?)
(D)3 8064

+B3
DDE

(A5
Solution:

7gt D ¥ B letter IETRTH B | AIT B

=73 D= 18w ¥ Option a1 &+

Al |

27

x73

110 Answer is C

(B) 6

() 7 (D)8

Practice Questions

1 Y% ERA WE WE Gl
TANE TE N qAH FHTAS O
T P+Q+R® WA &d &8 ? (In
the correctly worked out multiplication
problem at the right letter represents a
different digit. What is the value of P +
Q+R?)

PQ
x 3

PQQ

(A)12 (B)15 (C)18 (D)21

2. YU® ASRW WP Wih OIS
TNE AW MU qER qHATITS
SIgal ABC #l HIF &#id 8 ?  (In the

correctly worked out addition problem

below, each letter represents a
different digit. What is number ABC?)
3C
4C
+ CC
ABC
(A)135 (B)134 (C) 136 (D) 138
3. TAF HERA TF TEF G
TAEE W@ WU qER  qEEETS
SI€&T A — B SRTeR i g ? If A and
B represent different digits in this
addition problem, what is the value of
A-B?
1BA
x 8B
211
(A)8

(B)9 (C)7 (D)6



4.

TAF AGRA WF WX G
TASE O N qAH THTAE IO
Tl A® HH Ha g8 ¢ (IfAand B
represent different digits in this
worked out multiplication problem
what is the value of A?)

BAA
x 8
50B4
(A) 3

®4 ©1 D9

TAF HAERA HXF HRF  GeTdrs

TNE TEl WU qAE  GHEETS

€T D F A FHd & ? (In the

correctly worked out addition problem

above, what digit does D represent?)
83A

+DBB

CAC2

(A)6 (B)3 ()2 (D)1

TAF ERA Wk Ik AT
WSS @ ST quael  qHEES
ST A & A T 8 7 (In the

correctly worked out addition problem

at the right, each letter represents a

different digit. What is the value of A?)
AB

+AB

BCC

(A) 7 (B) 8 (C) 9 (D)

TPl Series AT Alphabet, Numerical ¥
Sign «1% fegusl T SH FemEA Tq
TS JIAHl IR faqerd | (Observe
the following series carefully and answer
the questions that follow 6 to 8)
ASIR&*E721'@I1*#@!'0*&
#>8U>

IS Series AT STET 9T qSSIATS
THSAE =T i qar J@rs Vowel

8.

9.

HERATS T=HCH S ? (How many
numbers follow a vowel alphabet?)
(A)1 B2 (©)3 (D)4

A Statement ATAR  Hiq  FeT

FEesa Vowel Alphabet T8 sraTst=aT
TEIfe T=C@T & 7 (How many
vowels will be followed by numbers if
the second half of the series is
reversed?)
(A)1 (B) 2

€3 (D)4

AT TTHAAT faeee TRABRIT =T
Ffa T faees T 7 (How many
symbols are there in the sequence if !
isn’t a symbol anymore?)
(A)12 (B) 21 (C)13 (D)14
T Series AT Alphabet T8 Numerical
ars [aSUsl @ 9 ATAF T AU
g9l IR (a4 | In the below space
an alpha-numeric series is present. Study
the series carefully and answer the
questions that follow: 9 to 12
1,1),G3*!&B,@,),5, & E, &,
NL%,#,0,7, & L84, &

10. Wit Series WT Letter ¥ F&AET S ?

(How many symbols do the alpha-
numeric series have?)

617 ®18 (©19 (D)20

11. WP Series W1 HTET W1 TSHEIATS

THREE TR FA T AT AEATS
T=TH 1 ?  (How many numbers
are followed by an alphabet if the
second half of the series is reversed?)
(A)0 B2 (©4 (D5



12. W Series AT Alphabet 8¢ #er oW | 13. Wifaet F&@mees! Numerical Value
T S 99 ®@T Alphabet & &9 ST ARTRA BT g5 ? (The sum of
g1 ? (Which of the following are the numbers that represent the
related, in some way or the other?) position of all the alphabets is)
(A)G,B (B)B,E (C)E,% (D)G,O | (A)65 (B) 64 (C) 63

(Answ Sat )
S.No. Key Explanation Al
I T | Q #T Value T3& Cwich:ETAzl
ETTea | SR, P=8T Q=5 ~ A+A=12 then A=6
B | [l 7. | A | 7isfollowed by E.
22 As you can see the only vowel
255 (2+5+8=15) which is preceded by a
' 8. | A | number is U, so there is only
Jal C=5%T&T, A=1,B=37 one such vowel and the
C=5 answer is 1.
A Zg Anything which is not a
455 number is a symbol here. The
135 (ABC =135) 9 A count of all such terms is 12.
: ' You will have to not include !
B=2% A=9fdar and count carefully. Therefore
c (9-2=7) the answer is 12.
Tl A=37 B =6 HI=I 0. A Symbol =T I&rel 17 T
A 633 Letter ¥ Number 8¢ I |
x8 There is no symbol of
5064 11. | A | alphabet second half of the
J8f, A=5B=73 D=6 series
T G and O is the sequencial
12. D .
A 835 order of above the series
+677 The total sum of position of
1512 (C=1¥D=6E3 I 131 B alphabet letters are 64.
The addition now looks like
Al
D h' . +_M
tnis: 1CC
Since 1 + 1 = 2, rewrite the
problem again, replacing each

(D) 62






